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Q-P(:A) (1) Range of int data type is g ) - &
(2) Implicit type casting is also known as S
(3) A=5, what is the output of ++A.
Q.1(B) Float A=12.3; int B=(int) A+3, what is the value of B. .
Q.PT\KZ) Write a program to swap value without using 3rd variable. - -
o) I~ OR >
LD -
Q-t\?ﬁ) (1) Symbol of ternary operator is LOQ, ) f\i‘ =
P~ (2) Conditional operator is also khewn as ™~
9 (3) Exit control loop is also knowsds =
x ) — — A
Q.CIB) Write a program to find mmmber is@ime or not = z
Q.@Z) Write a program to find xmximmngmber from 3 mumbers. < 5
a4 04 r
Q.2(A) (1) Output of CEIL (15.2) is 3
(2) Puts() is a string finction. (True/False)
(3) clrscr() is a /O Formatting function.(True/False)
Q.2 (B) Write a program to allocate memory using memory allocation fimction. 2
Q.QC) Write a program to find factorial g@zber using call by reference. Q 5
) o OR D
L0 o 0 o
Q.2(A) (1) What is dangling pointer problem. o\ 3
™~ (2) How to declare pointer varia B
9 (3) & sign is used for ~— =
O.gB) Write a program to find mmmber oaemems in an Array. _CDj 5
=9 . .
Q27C) Write a program to add two numbegs using pointer. < 5
o o o
Q.3(A) (1) Write down syntax i create union. 3
(2) Which keyword is used to declare structure?
(3) Which operator is used to access structure variable?
Q.3(B) Create only structure for student details. 5
' Q3(C) Write down program for Array with struconlxlre. i
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